
Introduction

Wind energy has the largest share 
in the nation’s electricity 

generation mix. With a few 
exceptions, the national 

government has not set substantial 
policies that advance wind energy. 
However, twenty-nine states have 

adopted renewable portfolio 
standards (RPS), that limit carbon 
emissions by a certain deadline. 

For example, Minnesota’s RPS is 
26.5% renewable by the year 2025. 

This policy has become quite 
popular among the states, but does 

it work?

  
 Hypothesis 1: In comparison of the states, 
 there will be a greater share of wind generation
 for those having an RPS, than those without an RPS.

 Hypothesis 2: In comparison of the states, there will be
 a greater share of wind generation for those having
 aggressive RPS, than those with relaxed RPS.

Results and Implications

The results reject the first hypothesis. States with high generation are more likely to have no set RPS. However, states 
with moderate wind generation are slightly more likely to have an RPS. This policy cannot be viewed as the ultimate 

solution to advance wind energy development among the states.

The results offer weak support for the second hypothesis. The regression coefficient is 0.004. This means that every 1-
point increase in RPS aggression there is a 15.02 (MW) increase in wind generation. States need to enhance their RPS 

so that it can properly incentivize electricity providers to expand wind generation.
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R² Linear = 0.004

Y=3.71e3+15.02*x
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